Calculus Review for Chapter 6 Solutions

/3 .
l)f seczed0=[tan0]o/3=tang—tan0=\/§—0=\/§
0
2 2 T 1 (1
2)f X +— |dx = X2 o|2-2|-|==1]=2
1 X 2 x| 2 2

3)
1
f 36dx3 u=2x+1 du=2dx
"(2x+1)

5 3
3 lf@ﬂg_L
20 21421
4 1
) f2xsin(l—x2)dx u=1-x> du=-2xdx
-1

0
—fsinudu =0

0

]
—
0
|
—
oo|’—‘
|
|
N | —
N~————
| IS
]
|
—_
+
Ne)
Il
oo

5)

m/2
. 2 .
f 5sin*?xcosxdx wu=sinx du=cosxdx
0

' u5/21
5f wdu=5
0 5/2

-{30-30)-2

/2 X 1/2

4 2 4 2 !
6) f X e (x+3)dv=| 2 +3x| =(8+12)- LEANTE
| 2 8 8

7) /4 tan x 2 2
e"'sec’xdx wu=tanx du=sec xdx
0
1 1
u _ u _ 1_ 0 -
foe du—[e]o—(e e) e-1
8) fﬂ lnrdr u=Inr du=ldr
1 r r
! 2 (2 2 2
u du = S e )
fo B [3/2]0 (3() 3073
1
9) f 5 al dx 5 i = A + B =>x=A(x+2)+B(x+3)
0xX +5x+6 X 4+5x+6 x+3 x+2

x==-3: -3=-4A=>A4=3 x=-2: =-2=B
1 1 1
f : X dr =3 dx _2f dx

00X +5x+6 ox+3 0x+2

- 3[1n\x + 3\] 2[1n\x + 2\]; =3(In4~1n3)-2(In3-1n2)=3In4-5In3+2In2 = In

1
0

#(2)

35




10 2
) f 2x+6 2“6=£+ B =2x+6=A(x—3)+Bx
1

x* =3x x=3x x x-3
x=3: 12=3B=B=4 x=0: 6=-34=A4=-2
2 2 2
f 22x+6dx=—2 ﬂ+4 dx dx
1 x°=3x 1 X 1 x-3

2
1

- —Z[In‘x”f + 4[1n\x - 3\] =-2(In2~1In1)+4(In1-1n2)=-2In2-4In2 = In2"

11)
f cos‘x dx u=2-sinx du=-cosxdx
2-sinx
du )
- —=—ln‘u‘+C=—ln‘2—smx‘+C
u
12) f dx
u=3x+4 du=3dx
V3x +4
2/3
lfu‘”afu=l . +C=l(3x+4)2/3+c
3 3{2/3 2
13
) fzdt u=t"+5 du=2tdt
t°+5
L R N AR e
2 u 2 2
14)
f%secltanlde u=l du=—i2d0
0 0 0 0 0

1
—fsecutanudu =—secu+C=—sec5+C

15)
fmdy u=Iny du=ldy
Y Y

ftanudu = ln‘sec u‘ +C= ln‘sec(ln y)‘ +C

16) fe" sec(e’)dx u=e" du=edx

fsec udu = ln‘sec u + tan u‘ +C= ln‘sec(ex) +tan(e” )|+ C

17)

f dx u=Inx du=ldx

xIlnx X

fldu ~ Infu+ C = Tnfin+|+
u



18 -1/2
) fi=ft‘3/2dt=t +Co-2icC
e -1/2 i

19)
3
fx cosxdx 3 oS X
3x? sin x
6x -COS X
6 -sin x
0 COS X
fx3 cosxdx = x> sinx + 3x? cosx — 6xsin x —6¢cosx + C
20) , u=Inx dv=x'dx
Inxd 5
fx nrax du=ldx v=x—
X 5
5
fx4lnxdx=x51nx—lfx4dx+C=x51nx—x—+C
5 25
21) f 3 . u=e’ dv = sin xdx
e sin x dx
du=3e*dx  v=-cosx
_ 3 -
fe3x sinx dx = -’ cosx—(—3)fe3x cosxdx +C n=e dv C?Sde
du =3 dx y=sinx
fe“ sinx dx = —e** cosx+3(e3" sinx—3fe3x sinxdx)+ C
fe3x sin x dx = —e** cos x + 3¢ sinx—9fe3x sinxdx + C
10fe3" sinx dx = —e** cosx + 3¢ sinx + C
3x
fe“ sinx dx = (3sinx—c0sx)+ C
22) 2 -3x
fx e dx > o
2x —le‘3r
3
2 18—376
9
0 —Le‘”
27




23)

24)

25)

26)

27)

28)

f 25 25 A B
= +

x2—25dx NPy R x_5=>25=A(x—5)+B(x+5)

x=5:25=IOB=>B=§ x=—5:25=—10A=A=—§

[ a2 [ [ S s s
-25 x50 2 -5 2 2
52x+2 dx 52x+2 _ A + B =>5x+2=A(x+1)+B(2x—1)
2x 4+ x-1 2x +x-1 2x-1 x+1
x=—1:—3=_3B=>B=1 x=l:2—§A=>A 3
22 2
it s [l oot
2x" +x-1 2x -1 X+1 2

2 2
dy=(1+x+%)dx=>y=f(1+x+%)dx

2 3

y=x+7+%+C 1=0404+0+C=C=1

—x+x—2+—3+1
YTERTS

2
dy=(x+l) dx:>y=f(x2+2+%)dx
x x

3
y=x—+2x—l+C 1=l+2—l+C:>C=—l
3 3 1 3

X
x° 1 1

= 42x—-————

S x 3
1

dy=—dt=>y —dt
+

=1n\t+4\+c 2=1n1+C:>C=2
=ln‘t+4‘+2

dy =csc20cot20df =y = fcsc2t900t20d9
y=—lcsc20+C 1=—lcscE+C=>l=—l(l)+C=>C=E
2 2 2 2 2

1 3
=-—csc20+ —
) 2



31)

32)

b =dx=>J‘cW =X
y+2 y+2
ln‘y+2‘=x+C In4=0+C=C=1In4

ln‘y+2‘=x+1n43y+2=e““‘4:y=4e"—2

ﬂ= (2x+])dx :>fﬂ= f(2x+1)dx
y+1 y+1

In|y+]=x"+x+C  In2=1-1+C =C = In2

1n‘y+ 1‘ =X +x+In2= y+1= gl y= 2e" -

1



